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k|df0fLs/0f ldlt M @)&%.#.@& 

:yfgLo /fhkqdf k|sflzt ldlt M @)&% 

 

लललतपरु महानगरपाललका  

nlntk'/ lhNnf 

k|b]z g+= #, g]kfn 



nlntk'/ dxfgu/kflnsfsf] ljlgof]hg P]g, @)&% 

 

nlntk'/ dxfgu/kflnsfsf] cfly{s aif{ @)&%÷@)&^ sf] ;]jf / sfo{x?sf] nflu :yfgLo 

;l~rtsf]ifaf6 s]xL /sd vr{ ug]{ / ljlgof]hg ug]{ ;DaGwdf Joj:yf ug{ ag]sf] P]g 

;efaf6 :jLs[t ldltM @)&%÷#÷@& 

 

k|:tfjgfM 

nlntk'/ dxfgu/kflnsfsf] cfly{s aif{ @)&%÷)&^ sf] ;]jf / sfo{x?sf] nflu ;l~rt sf]ifaf6 

s]xL /sd vr{ ug]{ clwsf/ lbg / ;f] /sd ljlgof]hg ug{ jf~5gLo ePsf]n], 

g]kfnsf] ;+ljwfg, @)&@ sf] wf/f @@( -@_ adf]lhd nlntk'/ dxfgu/kflnsfsf] gu/ ;efn] of] 

P]g agfPsf] 5 . 

 

!= ;+lIfKt gfd / k|f/DeM  

 -!_ o; P]gsf] gfd ænlntk'/ dxfgu/kflnsfsf] ljlgof]hg P]g, @)&%Æ /x]sf] 5 . 

 -@_ of] P]g t'?Gt k|f/De x'g]5 . 

@= kl/efiff M 

 s= ægu/ ;efæ eGgfn] nlntk'/ dxfgu/kflnsfsf] gu/ ;efnfO{ ;Demg' kb{5 . 

v= æsfo{kflnsfæ eGgfn] nlntk'/ dxfgu/kflnsfsf] gu/ sfo{kflnsfnfO{ ;Demg'     

kb{5 . 

u= æj8f ;ldltæ eGgfn] nlntk'/ dxfgu/kflnsfsf] j8f ;ldltnfO{ ;Demg' kb{5 . 

 3= æljifout zfvfæ eGgfn] nlntk'/ dxfgu/kflnsf cGtu{tsf] ljefu, 

 dxfzfvf,zfvf, cfof]hgf, ;lrjfno, O{sfO, sfof{no tyf cGo k|zf;lgs O{sfO 

;d]tnfO{ ;Demg'  kb{5 . 

ª= æ;l~rt sf]ifæ eGgfn] nlntk'/ dxfgu/kflnsfsf] ;l~rt sf]ifnfO{ ;Demg' kb{5 . 

 

 

#= cfly{s jif{ @)&%÷)&^ sf] lgldQ ;l~rt sf]ifaf6 /sd vr{ ug]{ clwsf/M -!_ cfly{s 

jif{ @)&%÷)&^ sf] lgldQ dxfgu/ sfo{kflnsf, j8f ;ldlt, ljifout zfvf, dxfzfvf, 

laefun] ug]{ ;]jf / sfo{x?sf lgldQ cg';"rL –! df plNnlvt rfn" vr{, k"Flhut vr{ / 

lalQo Joj:yfsf] /sd ;d]t u/L hDdf /sd ?=$,^),&@,*&,))).– -cIf]?kL rf/ ca{ 

;fÝL s/f]8 axQ/ nfv ;tf;L xhf/ ?k}of dfq_ df ga9fO{ lglb{i6 ul/P adf]lhd 

;l~rt sf]ifaf6 vr{ ul/g]5 .  
 

$=  ljlgof]hgM  

 



 -!_ o; P]g4f/f ;l~rtsf]ifaf6 vr{ ug{ clwsf/ lbOPsf] /sd cfly{s jif{ @)&%÷)&^ 

sf] lgldQ dxfgu/ sfo{kflnsf, j8f ;ldlt / ljifout zfvf, dxfzfvf, laefun] ug]{ 

;]jf / sfo{x?sf] lgldQ ljlgof]hg ul/g]5 . 

 

-@_ pkbkmf -!_ df h'g;'s} s'/f n]lvPsf] ePtf klg sfo{kflnsf, j8f ;ldlt / ljifout 

zfvfn] ug]{ ;]jf / sfo{x?sf] lgldQ ljlgof]hg u/]sf] /sd dWo] s'g}df art x'g] / 

s'g}df gk'u x'g] b]lvg cfPdf dxfgu/ sfo{kflnsfn] art x'g] zLif{saf6 gk'u x'g] 

zLif{sdf /sd ;fg{ ;Sg]5 . o;/L /sd ;fbf{ Ps zLif{saf6 ;f] zLif{ssf] hDdf 

/sdsf] @% k|ltztdf ga9\g] u/L s'g} Ps jf Ps eGbf a9L zLif{sx?af6 csf]{ Ps 

jf Ps eGbf a9L zLif{sx?df /sd ;fg{ tyf lgsf;f / vr{ hgfpg ;lsg]5 . 

k"Flhut vr{ / ljQLo Joj:yftkm{ ljlgof]lht /sd ;fFjf e'QmfgL vr{ / Jofh 

e'QmfgL vr{ zLif{sdf afx]s cGo rfn" vr{ zLif{s tkm{ ;fg{ / laQLo Joj:yf 

cGtu{t ;fFjf e'QmfgL vr{tkm{ lalgof]lht /sd Aofh e'QmfgL vr{ zLif{sdf afx]s 

cGoq ;fg{ ;lsg] 5}g . 

 

t/ rfn' tyf k"Flhut vr{ / ljQLo Joj:yfsf] vr{ Joxf]g{ Ps >f]taf6 csf]{ 

>f]tdf /sd ;fg{ ;lsg]5 . 

 

-#_ pkbkmf -@_df h'g;'s} s'/f n]lvPsf] ePtfklg Ps zLif{saf6 ;f] zLif{ssf] hDdf 

:jLs[t /sdsf] @% k|ltzt eGbf a9\g] u/L s'g} Ps jf Ps eGbf a9L 

zLif{sx?df /sd ;fg{ k/]df gu/ ;efsf] :jLs[lt lng' kg]{5 .  

 



cg';"rL–! 

-bkmf–@ ;+u ;DalGwt_ 

g]kfnsf] ;+ljwfgsf] wf/f @@( -@_ adf]lhd 

;+l~rt sf]ifaf6 ljlgof]hg x'g] /sd 

 

                                    ?= xhf/df 

 

 

 

 

 

 

 

 

 

 

qm=;+

= 

cg'bfg 

;+Vof 

zLif{ssf] gfd rfn' vr{ k"Flhut vr{ ljlQo 

Joj:yf 

hDdf 

! @ # $ % ^ & 

@  gu/sfo{kflnsf 1336000 132000  1468000 

#  j8f ;ldlt 29000 373000  402000 

$  laifoutzfvf  2737287  2737287 

%  C0fsf] ;fFjf Jofh 

e'QmfgL 
    

^  nufgL -

z]o/÷C0f_ 
    

  hDdf 1365000 3242287  4607287 

  



 

cfufdL cf=a= 2075÷076 sf] k|:tfljt cfo Aoo ljj/)f 

l;=g+= jh]^ lzif{s 
k|:tfljt  cfo 

/sd 
l;=g+= Joo lzif{s k|:tfljt Joo /sd 

1 g]kfn ;/sf/ af^ k|fKt cg'bfg    897,800,000  1   rfn' vr{ -k|zf;lgs tkm{_    1,065,000,000  

2 ;z{t cg\bfg 421600000   2   rfn' vr{ -;fdflhs ;"/Iff eQf_     300,000,000  

3 
ljlQo 

;dfgLs/)f 
476200000   3   cfly{s lasf;      85,037,000  

4 k|b]z ;/sf/ af^ k|fKt cg'bfg      30,000,000  4   ;fdflhs lasf;     184,500,000  

5 cfGtl/s >f]t 
   

1,775,401,000  
5   k'JFf{wf/ lasf;    1,672,300,000  

6 /fhZj af+*km+f* 
    

183,436,000  
6   jftfj/)f tyf ljkb Joj:yfkg     175,000,000  

7 ;dk"/s cg\bfg     90,000,000  7   k'hL lgdf)f{     132,000,000  

8 ;fdflhs ;'/Iff eQf 
    

300,000,000  
8   ;+:yfut      34,500,000  

9 ;*s af]*{     20,000,000  9   cGoq juL{s[t gePsf      117,500,000  

10 hg;xeflutf /sd     50,000,000  10   ;*s af]*{      20,000,000  

11 kmf]x/d}nf Joj:yfkg 
      

3,150,000  
11   kmf]x/d}nf Joj:yfkg       3,150,000  

12 world bank(PURPP)     94,500,000  12   world bank(PURPP)      94,500,000  

13 ef/t ;/sf/ cg"bfg-j[$fd ejg     40,000,000  13  
 ef/t ;/sf/ cg"bfg-j[$f>d 

ejg_  
    40,000,000  

14 
l;=cf/=l;=-gLhL If]q ;fdflhs 

pQ/bfloTj_ 
    30,000,000  14  

 l;=cf/=l;=-gLhL If]q ;fdflhs 

pQ/bfloTj_  
    30,000,000  

15 u}/ ;/sf/L ;+:yfaf^     30,000,000  15   u}/ ;/sf/L ;+:yfaf^      30,000,000  

16 s]=o'=s]=Pn=-lk=cfO{=l*_    400,000,000  16   s]=o'=s]=Pn=-lk=cfO{=l*_     320,000,000  

17 cGo cg\bfg-l;l^g]^_      3,000,000  17  
 cGt{/fli^o ;xof]u -cGo cg\bfg -

l;l^g]^_  
     3,000,000  

18 cGo cg\bfg-lk=lk=lk_     10,000,000  18   cGo cg\bfg-lk=lk=lk_        800,000  

19 cGo ;fkl^-l^=l*=Pkm_ 
    

300,000,000  
19   wkufn ejg lgdf{)f-l^=l*=Pkm_     300,000,000  

20 
cg'dflgt df}Hbft /lhi^]zg 

af*kmf*sf] /sd ;d]t 

    

350,000,000  
      

  
hDdf  4,607,287,000     hDdf   4,607,287,000  

 

 

 

 

 



nlntk"/ dxfgu/kflnsf gu/ sfo{kflnsfsf] sfof{no, k"Nrf]s, nlntk"/, 3 g+= 

k|b]z, g]kfn 

cfly{s jif{ 2074.075 h]i& d;fGt ;Ddsf] oyf{y vr{, cf=j= 2074.075 sf] cfiff( dlxgfsf] 

cg"dflgt vr{ / cf=j= 2075.076 sf] cg"dflgt rfn' vr{ 

vr{ lzif{s  jflif{s ah]^  
 cf=j=074.75sf] 

h]i&;Ddsf] vr{  

 

cf=j=074.75sf] 

cfiff(sf] 

cg'dflgt vr{  

cf=j=074.75sf] 

hDdf vr{ 

 

cf=j=075.76sf] 

cg'dflgt ah]^  

s=rfn' vr{   

-k|zf;lgs tkm{_ 
 

431,287,000    207,895,620  

  

138,471,000  

  

346,366,620.00    

1=01=1=1 l:js[t 

b/aGbL sd{rf/L 

tna bz} vr{, 

s=;+= sf]if 
  

147,400,000  

   

78,192,940.52  

  

15,000,000.00  

     

93,192,940.52  

   

140,000,000  

kbflwsf/L 

kfl/>lds       

           

-    

    

21,000,000  

yk dGqfno 

sd{rf/L       

           

-    

    

23,900,000  

;kmfO sd{rf/L       

           

-    

    

71,700,000  

;fdflhs 

kl/rfns         

     

5,000,000  

;zt{ tna 

lzIff, :jf:Yo, 

dlxnf ljsf;       

           

-    

   

354,000,000  

1=01=1=3 ;+lrt 

ljbf casfz 

sd{rf/L 
   

10,000,000  

    

2,357,760.52  

   

500,000.00  

     

2,857,760.52  

    

20,000,000  

1=01=1=6 

sd{rf/L sNof)f 

sf]if 
   

15,500,000  

  

15,500,000.00    

    

15,500,000.00  

    

40,000,000  

1=01=1=7 ljdf 

lk|ldod vr{ 
    

5,000,000  

    

882,805.01    

      

882,805.01  

    

17,500,000  

1=02 eQf 
  

84,675,000   30,243,090.58        

1=02=1=1 

sd{rf/L vfhf 

tyf dx+uL eQf 
   

16,800,000  

   

10,323,206.00  

   

6,476,000.00  

     

16,799,206.00  

    

39,000,000  

1=02=1=2 

kbflwsf/L vfhf         

    

11,000,000  



eQf 

      

1=02=1=3 ljz]if 

eQf 
    

1,075,000  

     

531,200.00  

    

543,000.00  

     

1,074,200.00  

     

3,000,000  

1=02=1=4 

kbflwsf/L a}&s 

eQf 
   

49,200,000  

   

9,449,500.00  

  

39,750,000.00  

    

49,199,500.00  

    

15,000,000  

1=02=1=5 a}&s 

eQf  
    

9,600,000  

   

2,357,000.00  

  

7,243,000.00  

     

9,600,000.00  

    

15,000,000  

1=02=1=6 cGo 

eQf 
   

8,000,000  

   

7,582,184.58  

    

417,000.00  

     

7,999,184.58  

    

30,000,000  

1=03 ;?jf e|d)f 

vr{ tyf b}lgs 

eQf 

   

1,300,000    3,826,580.50        

1=03=1 

kbflwsf/L 

b}=e|=e= 
     

500,000  

   

3,420,000.00  

  

1,000,000.00  

    

4,420,000.00  

    

10,000,000  

1=03=2 sd{rf/L 

b}=e=e= 
     

500,000  

    

406,580.50  

     

93,000.00  

      

499,580.50  

     

1,500,000  

1=03=3 ;?jf 

e|d)f vr{ cGo 
     

300,000    

    

300,000.00  

      

300,000.00  

      

500,000  

1=04 kf]zfs 

  

5,025,000    2,492,126.60   2,532,000.00  

    

5,024,126.60  

   

8,000,000  

1=05 vfBfGg tyf 

cfxf/    3,200,000    1,552,585.00   1,647,000.00  

    

3,199,585.00  

    

7,000,000  

1=06 tflnd 

sfo{qmd vr{ 

  

1,000,000     341,625.00    658,000.00  

     

999,625.00  

    

3,000,000  

2 sfof{no 

;~rfng / ;]jf 

vr{ 

 

124,680,000   64,386,057.25        

2=01=1 ljB't 

dxz'n vr{ - 

;*s aQL ;d]t_ 

   

4,000,000  

    

1,505,725.74  

  

2,494,000.00  

     

3,999,725.74  

    

14,000,000  

2=01=2 vfg]kfgL 

dxz'n 
    

1,000,000  

     

392,866.94  

    

607,000.00  

      

999,866.94  

     

1,000,000  

2=02=1 sfof{no 

^]lnkmf]g dxz'n 
    

1,000,000  

     

333,382.72  

    

666,000.00  

       

999,382.72  

     

1,000,000  

2=02=2 j*f 

^]lnkmf]g dxz'n 
     

500,000  

       

2,912.65    

        

2,912.65    

2=02=3 df]afOn 

dxz'n 
    

1,000,000  

     

362,950.00  

    

637,000.00  

      

999,950.00  

     

1,000,000  

 



2=02=4 OG^/g]^ 

dxz'n 
    

2,500,000  

   

2,415,587.87  

    

84,000.00  

     

2,499,587.87  

     

6,000,000  

2=02=5 

kbflwsf/L 

;~rf/ dxz'n 

sfo{kflnsf ;b:o 

/ j*f ;b:onfO{ 

500 ;d]t       

           

-    

     

1,500,000  

2=03 sfof{no 

;~rfng ;DaGwL 

vr{  72,000,000   45,539,444.30        

2=03=01 

kqklqsf 
    

2,000,000  

    

343,450.00  

    

100,000.00  

      

443,450.00  

     

2,000,000  

2=03=10 ;]jf 

s/f/ sd{rf/L 
    

5,000,000  

   

3,027,875.00  

   

1,972,000.00  

     

4,999,875.00  

    

12,100,000  

2=03=11 j*f 

;~rfng vr{ 
   

14,500,000  

  

14,000,000.00  

   

500,000.00  

    

14,500,000.00  

    

29,000,000  

2=03=2 %kfO{ 
   

15,000,000  

    

9,415,478.63  

  

5,584,000.00  

    

14,999,478.63  

    

12,100,000  

2=03=3 lj!fkg  
    

5,000,000  

    

3,099,589.69  

  

1,900,000.00  

     

4,999,589.69  

     

5,000,000  

2=03=4 d;nGb 

;fdfg 
    

5,000,000  

   

4,403,029.18  

    

596,000.00  

     

4,999,029.18  

     

5,000,000  

2=03=5 cGo 

;]jf vr{ 
    

3,000,000  

    

1,224,883.30  

   

1,775,000.00  

     

2,999,883.30  

     

3,000,000  

2=03=6 sfof{no 

;fdfg 
   

20,000,000  

    

9,363,058.70  

  

10,600,000.00  

     

19,963,058.70  

    

15,200,000  

2=03=8 ;'rgf 

tyf k|sfzg  
    

1,500,000    

  

1,500,000.00  

     

1,500,000.00  

     

1,500,000  

2=03=9 vfg]kfgL 

vl/b 
    

1,000,000  

     

662,079.80  

    

337,000.00  

      

999,079.80  

     

1,000,000  

2=04 ef*f  
    

1,000,000  

    

277,000.00  

    

723,000.00  

     

1,000,000.00  

     

1,000,000  

2=05 dd{t tyf 

;Def/ 
  

5,000,000    1,482,439.89        

2=05=1 ejg 

dd{t 
    

1,000,000    

  

1,000,000.00  

     

1,000,000.00  

     

1,000,000  

2=05=2 kmlg{r/ 

dd{t  
     

500,000    

   

500,000.00  

      

500,000.00  

      

500,000  

2=05=3 d]lzg/L 

dd{t 
    

1,000,000  

     

74,082.80  

    

925,000.00  

      

999,082.80  

     

1,000,000  



2=05=4 ;jf/L 

;fwg dd{t  
    

1,000,000  

     

950,258.69  

    

49,000.00  

       

999,258.69  

     

3,000,000  

2=05=5 dd{t 

;Def/ sf]if 
     

500,000    

   

500,000.00  

      

500,000.00  

      

500,000  

2=05=6 cGo 

dd{t 
    

1,000,000  

    

458,098.40  

    

541,000.00  

      

999,098.40  

     

1,000,000  

2=05=7 dd{t 

;kmfO{ uf*L         

     

9,500,000  

2=05=8 dd{t 

bdsn, PDj'n]G;, 

zjjxfg         

     

2,000,000  

2=06 OGwg tyf 

cGo Ogwg 
  

20,730,000    5,658,126.75        

2=06=1 ;jf/L 

Ogwg sd{rf/L 
    

5,000,000  

    

2,355,573.41  

  

2,644,000.00  

     

4,999,573.41  

     

5,000,000  

2=06=2 OGwg 

sfof{no ;jf/L 

;fwg 
    

5,730,000  

    

1,618,405.26  

   

4,111,000.00  

     

5,729,405.26  

     

5,730,000  

2=06=3 cGo 

Ogwg 
    

2,000,000  

     

877,575.78  

   

1,122,000.00  

     

1,999,575.78  

     

1,500,000  

2=06=4 kl/jxg 

;'ljwf 
    

5,000,000  

     

806,572.30  

   

400,000.00  

      

1,206,572.30  

     

8,000,000  

2=06=5 Ogwg 

kbflwsf/L 
    

3,000,000    

  

3,000,000.00  

     

3,000,000.00  

     

3,000,000  

2=06=6 OGwg 

;kmfO uf*L         

    

25,500,000  

2=06=7 OGwg 

bdsn, zjjxfg, 

PDa'n]G; ;d]t         

     

3,000,000  

2=08 ljljw 

vr{ 
  

15,950,000    6,415,620.39        

2=08=2 ljljw 

vr{ cltly 

rf*kj{ k'hf uf]i&L 

;]ldgf/ 

    

5,000,000  

   

4,343,506.04  

    

656,000.00  

     

4,999,506.04  

     

6,000,000  

2=08=3 ;'Ts]/L 

eQf / lsl/of 

vr{ ;d]t 

    

1,000,000  

    

190,000.00  

    

100,000.00  

      

290,000.00  

      

500,000  

2=08=4 ljleGg 

k|ltlgwL d)*n 

:jfut ;Tsf/ vr{ 

    

1,500,000  

     

912,992.95  

    

587,000.00  

     

1,499,992.95  

     

1,500,000  



2=08=5 cGo 

ljljw vr{ -n]vf 

kl/If)f vr{_ 

     

800,000    

   

800,000.00  

      

800,000.00  

      

800,000  

2=08=6 ;b:otf 

z'Ns l;:^/ l;^L 

     

500,000    

   

500,000.00  

      

500,000.00  

      

500,000  

2=08=7 kl/ifb 

;~rfng vr{ 

    

1,500,000  

     

799,501.40  

    

799,000.00  

     

1,598,501.40  

     

1,500,000  

2=08=8 k'/:sf/ 

     

150,000    

    

150,000.00  

      

150,000.00  

      

150,000  

2=08=9 kbk'lt{ 

;ldlt vr{ 

    

2,000,000  

     

268,620.00  

  

1,700,000.00  

     

1,968,620.00  

     

4,000,000  

3  cg'bfg -lbg 

b'lv c;xfo_ 

     

500,000  

      

5,600.00      

      

100,000  

4  ;]jf vr{ 

  

31,507,000    8,114,450.36        

4=13=3 cGo lkmtf{ 

vr{ 

     

607,000  

     

180,347.55  

    

426,000.00  

       

606,347.55  

     

3,470,000  

4=13=2 k/fdz{ 

tyf cGo ;]jf 

vr{  

    

3,250,000  

     

831,777.00  

  

4,118,000.00  

     

4,949,777.00  

     

1,000,000  

4=13=3 k:ts 

tyf ;fdfu|L vr{ 

     

500,000  

     

134,905.00  

    

365,000.00  

      

499,905.00  

      

500,000  

4=13=4 cf}ifwL 

pkrf/  

    

1,000,000  

   

1,039,487.40    

     

1,039,487.40  

     

1,000,000  

4=13=5 cGo ;]jf 

vr{ ;km|^j]o/ 

    

2,000,000  

     

450,775.01  

   

500,000.00  

      

950,775.01  

     

5,500,000  

4=13=6 k|f]T;fxg 

eQf 

   

10,000,000  

   

5,477,158.40    

     

5,477,158.40  

     

7,500,000  

4=13=7 cg'udg 

d"Nof+sg 

    

1,000,000    

  

1,000,000.00  

     

1,000,000.00  

     

1,000,000  

4=13=8 cfDbfgL 

lkmtf{ vr{ 

     

250,000    

    

250,000.00  

      

250,000.00  

      

250,000  

4=13=9 ;]jf s/f/ 

;'/Iff uf*{ 

   

12,900,000    

  

67,000,000.00  

    

67,000,000.00  

    

11,000,000  

4=15 e}k/L cfpg] 

vr{ 

    

1,500,000      

           

-    

     

1,000,000  

hDdf k|zf;lgs 

vr{         

 

1,065,000,000  

v=rfn' vr{ -

;fdflhs ;'/Iff 

eQf tkm{_         

  

300,000,000  

            

s'n hDdf  
        

 

1,365,000,000  



 

nlntk"/ dxfgu/kflnsf 

cfly{s jif{ 2074.075 sf] h]i& d;fGt;Ddsf] vr{, ciff(sf] cg"dflgt vr{ / 2075.076 sf] k|:tfljt sfo{qmd 

l;=

g+= 

   sfo{qmd  

 

cf=j=2074.0

75 df 

ljlgof]lht 

/sd  

 cf=j= 

2074.075 sf]  

Ho]i& 

dlxgf;Ddsf] 

oyfy{ vr{  

 2075, 

cfiff(sf] 

cg'dflgt vr{  

 hDdf vr{  

 cf=j= 

2075.076 df 

ljlgof]lht 

/sd  

s=  sfo{If]qut ljsf; sfo{qmd            

10 

 cfly{s ljsf;  

          

  
1010  s[lif  

      

3,000,000  

     

459,150  

    

2,540,850  

      

3,000,000  

      

23,537,000  

  
1020 

 pBf]u tyf 

jfl)fHo  

     

20,000,000      

          

-    

       

1,500,000  

  
1030  ko{^g  

     

50,000,000  

    

1,000,000    

      

1,000,000  

      

50,000,000  

  
1040  ;xsf/L  

      

1,000,000      

          

-    

       

5,000,000  

  

1050 

 ljlQo If]q -

/fhZj k|j${gfTds 

sfo{qmdsf] nflu         

31,000,000      

          

-    

       

5,000,000  

  

1060  ;fd'bflos ljsf;        

40,000,000  

   

19,289,234  

    

20,710,766  

     

40,000,000    

  
 hDdf /sd     

145,000,000    20,748,384  

   

124,251,616  
    

145,000,000  

     

85,037,000  

20 
 ;fdflhs ljsf;  

            -    

          

-      

  
2010  lzIff  

      

10,000,000  

      

618,920  

    

1,500,000  

      

2,118,920  

      

52,500,000  

  
2020  :jf:Yo  

      

30,000,000      

          

-    

      

45,000,000  

  
2030  vfg]kfgL  

     

20,000,000  

     

2,706,326  

    

2,000,000  

      

4,706,326  

      

20,000,000  

  
2040 

 cd't{ ;+:s[lt 

k|j${g  

      

10,000,000  

     

5,669,685  

    

4,330,315  

     

10,000,000  

      

20,000,000  

  
2050 

 v]ns'b tyf 

dgf]/~hg              -    

          

-    

      

15,000,000  



  

2060 

 ;dfj]zls/)f -

dlxnf ;d'xnfO{ 

kmf]x/d}nf 

joj:yfkgsf nflu 

kl/rfng ;d]t, 

t]>f] ln+uL ;DaGwL 

sfo{qmd ;d]t_ 

;fd'bflos ljsf;  

     

20,000,000      

          

-    

      

30,000,000  

  

2070 
 sfGhL xfp; 

joj:yfkg  
            -    

          

-    

       

2,000,000  

  
 hDdf /sd  

    

90,000,000     8,994,931  

   

81,005,069  

     

90,000,000  

    

184,500,000  

  
    

            -    

          

-      

30 
 k'jf{wf/ ljsf;  

            -    

          

-      

  

3010 

 :yfgLo ;*s, k'n 

tyf emf]n'+u] k'n      

-ut jif{sf] l:js[t 

;*s of]hgf ;d]t_  
     

150,000,000  

   

80,969,079     69,030,921  
    

150,000,000  

     

500,000,000  

  

3020 

 km/s Ifdtf -

l*;Pan k/zg_ 

ePsf JolQmsf] 

nflu km'^kfy 

lgdf)f{              -    

          

-    

       

5,000,000  

  
3030 

 ;x/L ;*s dd{t 

tyf /f]* dfls{u+              -    

          

-    

      

10,000,000  

  
3040 

 ;fOsn n]g 

lgdf)f{              -    

          

-    

       

5,000,000  

  
3050  l;+rfO{  

      

7,000,000  

    

2,524,786  

    

4,475,214  

      

7,000,000  

      

17,000,000  

  

3060 
 s= ;Dkbf ;+/If)f 

tyf k'glgdf)f{   
      

60,000,000  

    

30,050,393  

   

10,000,000  

     

40,050,393  

      

20,000,000  

  

  

 v= ;Dkbf ;+/If)f 

-efO{ b]u 

lh)ff]{$f/nfO{ 50 

nfv ;d]t          

      

70,000,000  

  

3070 

 ejg tyf ;x/L 

ljsf; 6 j*f 

ejg lgdf)f{ -j*f 

ejg 11, 13, 23 

;d]t_ ax' alif{o 

of]hgf               -    

          

-    

      

33,300,000  

  

3080 

 dxfgu/sf s]lGb|o 

ejg dd{t s]Gb| -

lnkm\̂ , kfs{ ;'wf/, 

kf]v/L ;'wf/, 

km'^kfy, nfOl +̂u_  

      

10,000,000  

     

1,679,683  

    

8,320,317  

     

10,000,000  

      

25,000,000  



  

3090 

 phf{, n#' tyf 

;fgf hnljB't -

a}slNks phf{ 

;d]t_  

      

10,000,000  

     

995,546  

    

9,004,454  

     

10,000,000    

  

3010

0 

 gu/:t/Lo 

uf}/asf cfof]hgfx? 

Tfyf e}k/L cfpg] 

sfo{qmd              -    

          

-      

  

  

 1= h]i& gful/s 

;Ddfg sfo{qmd      

-o; lzif{saf^ 77 

jif{ 7 dlxgf 7 

lbg pd]/ k'/f 

ePsf h]i& 

gu/jf;L 

gful/snfO{ ;Ddfg 

:j?k jflif{s 

Psd'i& ?kdf 

5000. sf b/n] 

eQf ljt/)f_          

      

10,000,000  

  
  

 2= gu/:t/Lo 

uf}/asf cfof]hgfx?             

      

90,000,000  

  

  

 s= k'jf{wf/ tyf 

;*s lj:tf/sf 

cfof]hgf            

  
  

 v=;+:s[lt/;dkbf 

k|j${gsf of]hgf            

  

  

 u= jftfj/)f 

;/;kmfO{ tyf 

k|ljlw lj:tf/ tyf 

;'rgf ;+rf/ 

;DaGwL of]hgf            

  

  

 oL of]hgf / 

sfo{qmdx? 

gu/k|d'vaf^ k|:tfa 

x'g] / 

sfo{kflnsfaf^ 

cg'df]bg eO{ 

sfof{Gjog x'g]%g . 

_            

  
  

 3= e}k/L cfpg] 

sfo{qmd  
        

      

40,000,000  

  

3011

0 

 Doflr+u km)* lk 

o' cf/ lk lk, lk 

cfO{ l*, ;dk'/s, 

ljz]if cg'bfg, 

;*s af]*{, cGo  

     

90,000,000  

    

18,533,279  

    

71,466,721  

     

90,000,000  

     

145,000,000  



  

3012

0 

 j*f :t/Lo 

of]hgfx? 29 j*f 

;a}, j*f g+= 

1,6,7,8,10,11,19 

nfO{ ?=1 s/f]*sf] 

b/n], 

2,3,4,5,9,13,14,15,

17 nfO{ ?=1 s/f]* 

lj; nfvsf] b/n] 

/ 

12,16,18,20,21,22,

23,24,25,26,27,28,

29 nfO{ ?=1 s/f]* 

50 nfvsf b/n]  

     

122,000,000  

    

71,548,711  

   

50,451,289  

    

122,000,000  

     

373,000,000  

 

3013

0 

 qmdfut of]hgf -

cw'/f] of]hgf_              -    

          

-    

     

317,500,000  

  

3014

0 
 ;~rf/ Pkm=Pd=  

      

2,500,000    

    

2,500,000  

      

2,500,000  

       

1,500,000  

  

3015

0 

 jftfj/)f / (n 

Joj:yfkg tyf 

k|zf]wg  
     

100,000,000     55,148,012     44,851,988  

    

100,000,000    

  

3016

0 
 zf}rfno lgdf)f{  

      

10,000,000  

    

2,656,188  

    

7,343,812  

     

10,000,000    

  

3017

0 
 k'n  

      

10,000,000      

          

-      

  

3018

0 
 k'jf{wf/ dd{t  

     

20,000,000  

   

15,831,880  

    

4,168,120  

     

20,000,000  

      

10,000,000  

  
 hDdf /sd  

   

591,500,000    279,937,557     311,562,443  

    

591,500,000  

   

1,672,300,000  

40 

 jftfj/)f tyf ljkb 

Joj:yfkg              -    

          

-      

  
4010 

 ag tyf e' 

;+/If)f  

       

3,500,000  

     

988,500  

    

2,511,500  

      

3,500,000  

      

15,000,000  

  

4020 

 hnfwf/ ;+/If)f -

kf]v/L ;+/If)f Go'x 

kf]v/L ;d]t_              -    

          

-    

       

5,000,000  

  

4030 

 aftfa/)f ;+/If)f 

tyf hnafo' 

kl/jt{g              -    

          

-      

  

404

0 

 kmf]x/d}nf 

Joj:yfkg sfo{qmd   
     

160,000,000     114,208,160     45,791,840  

    

160,000,000  

      

15,000,000  

  
4050 

 (n lgdf)f{ tyf 

dd{t              -    

          

-    

     

100,000,000  

  

4060 

 k'/fgf (n 

;/;kmfO jif{sf] 

b'Ok^s              -    

          

-    

      

10,000,000  

  

4070 
 xl/ofnL clea[l$ 

tyf kfs{ lgdf)f{   
      

15,000,000  

     

3,103,758  

   

11,896,242  

     

15,000,000  

      

20,000,000  



  

408

0 

 hnpTkGg k|sf]k 

lgoGq)f              -    

          

-      

  

4090 

 ljkb Joj:yfkg - 

? 50 nfvsf] sf]if 

;d]t_  

      

6,000,000  

    

2,398,908  

    

3,601,092  

      

6,000,000  

      

10,000,000  

  
 hDdf /sd     

184,500,000    120,699,326     63,800,674  

    

184,500,000  

    

175,000,000  

50 

 ;+:yfut ljsf; ;]jf k|jfx 

/ ;'zf;g              -    

          

-      

  
5010  ;fdfGo ;]jf  

            -    

          

-    

        

500,000  

  

5020 

 ;'/Iff Joj:yfkg 

-sfof{no kl/;/df 

l; l; l^ le              -    

          

-    

       

1,500,000  

  
5030 

 ;rgf k|ljlw -

OG^/g]̂  / OG^fg]^_              -    

          

-    

       

8,500,000  

  
5040 

 kl~hs/)f 

Joj:yfkg              -    

          

-    

        

500,000  

  

5050 

 :yfgLo tYof+s 

;+sng / clen]v 

Joj:yfkg cf/ P)* 

l* :yfkgf, *f^f 

a}+s :yfkgf, l;^L 

k|f]kmfOn nufot              -    

          

-    

      

10,000,000  

  
5060  ;'zf;g k|j${g  

            -    

          

-    

        

500,000  

  

5070 

 sd{rf/L tyf j*f 

kbflwsf/LHo"x? 

;d]tsf] Ifdtf 

ljsf;              -    

          

-    

       

6,000,000  

  

5080 

 dxfgu/Lo 

k':tsfno ;~rfng 

-vfnL ePsf 

;fd'bflos ljBfno 

ejgdf_              -    

          

-    

       

5,000,000  

  

5090 

 cg';Gwfg tyf 

ljsf; -cf] l* 

;d]t_  

      

10,000,000      

          

-    

       

2,000,000  

     hDdf  

      

10,000,000      

         

-    

   
34,500,000  

v= 
 k'hL lgdf)f{  

          

  

6010 

 hUuf v/Lb -

c:yfO Nof)*lkmN* 

;fO* / ljB'lto 

za u[x lgdf)f{sf] 

nflu_              -    

          

-    

      

50,000,000  

  
6020 

 ;jf/L ;fwfg 

v/Lb -sfof{no             -    

          

-    

      

20,000,000  



k|of]hg_  

  

  

 kmf]xf]/ d}}nf 

Joj:yfkgsf] nflu 

pks/)f tyf gof+ 

;jf/L ;fwfg v/Lb           

      

50,000,000  

  

6030 

 d]lzg/L cf}hf/ -

clkml;on 

c^f]d]zg_              -    

          

-    

       

7,000,000  

  
6040  kmlg{r/  

            -    

          

-    

       

5,000,000  

  
   hDdf  

        

    

132,000,000  

u= 
 cGoq jlu{s[t gePsf -

ljljw_  
          

  
6050  Goflos ;ldlt  

      

1,000,000  

     

880,920  

     

119,080  

      

1,000,000  

       

2,000,000  

  
6060 

 ;femf a;, 

On]lS^s a;              -    

          

-    

      

25,000,000  

  

6070 

 k/fdz{ ;]jf -

km\nfOcf]e/, 

OG^/;]S;g 

kmnfO{cf]e/, cjf{g 

/f]* nufot_              -    

          

-    

      

25,000,000  

  

6080 

 lx/s dxf]T;a -

dxfgu/ :yfkgf, 

/fli^o JolStTj 

;Ddfg sfo{qmd_              -    

          

-    

       

2,000,000  

  

6090 

 l;^L g]̂  

PSh's]l^e a}&s 

;~rfng Pad\ 

cGt/fli^o ;DaGw 

lj:tf/ -elugL 

;DaGw cfbfg 

k|bfg_              -    

          

-    

       

3,500,000  

  

6010

0 
 ljB't ;fdfu|L  

            -    

          

-    

      

10,000,000  

  

6011

0 

 #/ g+= ljt/)f, 

kmfOn 

l*lh^fOh]zg, O la 

lk P; ;d]t 

ax'jlif{o of]hgf              -    

          

-    

      

50,000,000  

  

6012

0 
 lkmtf{ vr{        

3,000,000  

      

681,713  

     

200,000  

       

881,713    

  

6013

0 

 zx/L ljsf; 

sfo{qmd  
     

50,000,000      

          

-      



  

6014

0 

 dfgj ;+;fwg, 

Ifdtf ljsf; 

sfo{qmd  

      

5,000,000  

      

520,783    

       

520,783    

  

6015

0 
 ;"zf;g        

10,000,000      

          

-      

  
 hDdf /sd  

    

69,000,000      1,562,633    67,437,367  

    

69,000,000  

    

117,500,000  

    

 zzt{ cg"bfg -

ljifout sfof{no_  

    

281,263,000      

          

-      

     slif    

    

8,172,754  

    

1,496,000  

      

9,668,754    

     kz"    

     

3,043,653  

    

5,000,000  

      

8,043,653    

     lzIff    

   

241,332,288  

   

89,000,000  

     

330,332,288    

     :jf:Yo    

    

24,921,368  

   

30,000,000  

     

54,921,368    

  
  

 ljifout cg"bfg 

g]kfn ;/sf/  

   

270,100,000      

          

-      

  
  

 ;fdflhs ;'/Iff 

eQf  
    

240,000,000  

   

233,056,000    

     

233,056,000    

  
   ;*s jf]*{  

      

28,600,000           -      

          

-    

    

20,000,000  

  
   Pnlhl;l*lk   

       

1,500,000  

    

1,500,000    

      

1,500,000    

  
   k'lh lgdf{)f   

   

130,000,000      

          

-      

  
   hUuf vl/b  

     

50,000,000           -      

          

-      

  
   ejg lgdf{)f  

     

40,000,000  

    

13,285,933    26,714,067  

     

40,000,000    

  
   ;jf/L ;fwg  

      

30,000,000  

    

1,023,000     1,000,000  

      

2,023,000    

  
   d]lzg/L cf}hf/  

      

5,000,000  

     

3,140,619     1,859,381  

      

5,000,000    

  
   kmlg{r/  

      

5,000,000  

    

4,920,472       79,528  

      

5,000,000    

  
  

 ax"jlif{o ;*s 

lj:tf/  
   

100,000,000         -      

          

-      

  
    

      

          

-      

    

 bfloTj >[hgf -

qmdfut of]hgf _  

   

142,760,000    116,519,564    26,240,436  
    

142,760,000    

     a}b]lzs cg"bfg  
   

783,700,000      

          

-      

    

 ljleGg bft[ 

lgsfo  
     

500,000,000      

          

-      

    

 jN*{ j}}s sfo{qmd 

lk o' cf/ lk lk  

     

170,300,000  

    

97,233,000  

    

5,000,000  

     

102,233,000  

      

94,500,000  



    

 cf] la P 

kmf]x/d}nf 

joj:yfkg  

     

70,000,000  

    

60,377,000  

    

9,623,000  

     

70,000,000    

    

 ef/t ;/sf/ 

a[$f>d ejg 

lgdf{)f  

     

40,000,000  

   

17,608,400  

    

22,391,600  

     

40,000,000  

      

40,000,000  

    

 kmf]x/d}nf 

Joj:yfkg o"/f]lkog 

o"lgog  

      

3,400,000      

          

-    

       

3,150,000  

     l; cf/ l;          

     

30,000,000  

     u}/ ;/sf/L ;+:yf          

     

30,000,000  

     s] o' s] Pn          

    

320,000,000  

    

 cGt//fli |̂o 

;xof]u          

      

3,000,000  

     cGo cg'bfg          

       

800,000  

    

 bf}jxfn ejg 

lgdf{)f          

    

300,000,000  

    

 hDdf a}b]lzs 

cg'bfg    

   

826,134,051  

  

218,404,012  
   

1,044,538,063  

     

821,450,000  

                

     s'n hDdf  

           

-          
  

3,242,287,000  

 

 

 

 

 


